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Information
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Definitions

An inscribed angle is an angle formed by two chords of a 
circle whose vertex is on the circle.

For example, here the chords AB and BC meet at the point B.
∠ABC is an inscribed angle.

The two chords also mark out an 
arc on the circle, AC. This is called 
the intercepted arc. This arc, and 
the unmarked chord AC, are said to 
subtend ∠ABC. 

The measure of the intercepted 
arc is the measure of the central 
angle, the angle formed at the 
center by the radii to A and C.
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The measure of the intercepted arc
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Inscribed angle theorem
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Calculating angles 1
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Comparing inscribed angles
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Congruent inscribed angles

A

B
D

C By the inscribed angle theorem, 
the measure of an inscribed angle is half 
the measure of its intercepted arc.

O

Prove that if inscribed angles intercept the same arc, 
they are congruent.

m∠ADB = ½mAB

m∠ACB = ½mAB

m∠ADB = m∠ACB

this gives:

and

∠ADB ≅ ∠ACB

equate the two expressions:

⌢
⌢
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Right angles and diameters
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Calculating angles 2
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An inscribed quadrilateral
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Angles in an inscribed quadrilateral
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Calculating angles 3
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Circumscribed angles

If an angle is formed on a circle between a chord 
and a tangent, by the inscribed angle theorem, 
the measure of the angle is half of the measure of 
its intercepted arc.

What happens if the angle is outside the circle?
What is the measure of the angle formed at D below?

A

O

B

C

D

By the exterior angle theorem, m∠ACB = m∠CAD + m∠ADC. 

∠ACB is an inscribed angle, so m∠ACB is half of the 
measure of its inscribed arc, 175°. m∠ACB = 87.5°

∠CAD is an inscribed angle on a tangent, so m∠CAD is 
half the measure of its inscribed arc, 60°. m∠CAD = 30°.

175°

60°

m∠ADC = m∠ACB – m∠CAD = 87.5° – 30°= 57.5°
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Modeling practice
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